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Test 4
This test is graded out of 46 marks. No books, notes, graphingcalculators or cell phones are allowed. You must show all your
work, the correct answer is worth 1 mark the remaining marks are given for the work.

Question 1. What angleθ (0◦ ≤ θ < 360◦) is co-terminal to

a. (2 marks) 961◦

b. (2 marks) 21π
4

Question 2. (2 marks) Consider an angleθ in standard position, find the quadrant in which its terminaledge lies, if secθ > 0
and cotθ < 0

Question 3. (4 marks) Find the values of the 5 other trigonometric functions, if cscθ = −
4
3 and tanθ > 0.



Question 4. (4 marks) Solve the right triangleABC (C = 90◦) given: a = 10,B = 13◦.

Question 5. (4 marks) A flagpole sits on the top of a building. From a point on the ground 37.5 m from the base of the building
the angles of elevation to the top and bottom of the flagpole are 70◦ and 67◦ respectively. What is the height of the flagpole?



Question 6. (4 marks) Draw the two “special triangles” which help identify the special angles. Label the angles of the triangles
and the length of each side.

Question 7. Find the exact values of

a. (4 marks) csc315◦

b. (4 marks) sec4π
3



Question 8. (4 marks) Sketch the graph of the functionf (x) = −2cos(πx) over the interval[−2,2].

Question 10. (4 marks) Verify the following identity:

1−cos2x
sin2x

= tanx



Question 11. (4 marks) Solve forθ :

1−3tan2 θ = 0

Question 12. (4 marks) Find the value of:

tan

[

arcsin

(

3
x

)]



Bonus.

a. (1 mark) State the domain and range of cscx.

b. (2 marks) Sketch the graph of cscx.

c. (2 marks) Restrict cscx on the interval
[

−
π
2 ,

π
2

]

and sketch csc−1 x.


